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O texto abaixo pertence a uma prova do TOEFL (Test of English as Foreign
Language - confira o Bonus Especial deste mddulo).

Com toda a sequéncia de estudos feitas nos ultimos 90 dias, vocé ja
consegue ler textos basicos. Chegou, entao, o momento de trabalhar textos mais
longos e complexos, mas que sdo acessiveis ao leitor comum.

Meteorite Impact and Dinosaur Extinction

There is increasing evidence that the impacts of meteorites have had important effects
on Earth, particularly in the field of biological evolution. Such impacts continue to pose a
natural hazard to life on Earth. Twice in the twentieth century, large meteorite objects are
known to have collided with Earth.

If an impact is large enough, it can disturb the environment of the entire Earth and cause
an ecological catastrophe. The best-documented such impact took place 65 million years ago at
the end of the Cretaceous period of geological history. This break in Earth’s history is marked
by a mass extinction, when as many as half the species on the planet became extinct. While
there are a dozen or more mass extinctions in the geological record, the Cretaceous mass
extinction has always intrigued paleontologists because it marks the end of the age of the
dinosaurs. For tens of millions of years, those great creatures had flourished. Then, suddenly,
they disappeared.

The body that impacted Earth at the end of the Cretaceous period was a meteorite with a
mass of more than a trillion tons and a diameter of at least 10 kilometers. Scientists first
identified this impact in 1980 from the worldwide layer of sediment deposited from the dust
cloud that enveloped the planet after the impact. This sediment layer is enriched in the rare
metal iridium and other elements that are relatively abundant in a meteorite but very rare in the
crust of Earth. Even diluted by the terrestrial material excavated from the crater, this component
of meteorites is easily identified. By 1990 geologists had located the impact site itself in the
Yucatén region of Mexico. The crater, now deeply buried in sediment, was originally about 200
kilometers in diameter.

This impact released an enormous amount of energy, excavating a crater about twice as
large as the lunar crater Tycho. The explosion lifted about 100 trillion tons of dust into the
atmosphere, as can be determined by measuring the thickness of the sediment layer formed



when this dust settled to the surface. Such a quantity of material would have blocked the
sunlight completely from reaching the surface, plunging Earth into a period 30 of cold and
darkness that lasted at least several months. The explosion is also calculated to have produced
vast quantities of nitric acid and melted rock that sprayed out over much of Earth, starting
widespread fires that must have consumed most terrestrial forests and grassland. Presumably,
those environmental disasters could have been responsible for the mass extinction, including the
death of the dinosaurs.

Several other mass extinctions in the geological record have been tentatively identified
with large impacts, but none is so dramatic as the Cretaceous event. But even without such
specific documentation, it is clear that impacts of this size do occur and that their results can be
catastrophic. What is a catastrophe for one group of living things, however, may create
opportunities for another group. Following each mass extinction, there is a sudden evolutionary
burst as new species develop to fill the ecological niches opened by the event.

Impacts by meteorites represent one mechanism that could cause global catastrophes
and seriously influence the evolution of life all over the planet. According to some estimates,
the majority of all extinctions of species may be due to such impacts. Such a perspective
fundamentally changes our view of biological evolution. The standard criterion for the survival
of a species is its success in competing with other species and adapting to slowly changing
environments. Yet an equally important criterion is the ability of a species to survive random
global ecological catastrophes due to impacts.

Earth is a target in a cosmic shooting gallery, subject to random violent events that were
unsuspected a few decades ago. In 1991 the United States Congress asked NASA to investigate
the hazard posed today by large impacts on Earth. The group conducting the study concluded
from a detailed analysis that impacts from meteorites can indeed be hazardous. Although there
is always some risk that a large impact could occur, careful study shows that this risk is quite
small.

Hazard = perigo, risco

Worldwide = mundial, de proporcdes planetérias
Layer = camada

Thickness = espessura, grossura

Plunging = precipitando

Widespread fires = incéndios generalizados

The standard criterion = O critério padrdo
Random = aleat6rio, que ocorre ao acaso

target in a cosmic shooting gallery = alvo em uma galeria de tiro césmica

Exercicio de leitura:

1. Leia o texto devagar e identifique os verbos que aparecem.



2. Com os verbos ja identificados (vocé pode circula-los com um lapis), fica agora
mais facil classificar as frases. Identifique o tempo de cada uma das frases:

a) Frases que estdo no presente (aqui e agora);
b) Frases que estdo no passado simples;

c) Frases que estdo no futuro;

d) Frases que estdo no Present Perfect

3. ldentifique as palavras que se assemelham ao portugués (sdo muitas!) — Confira
0s BOnus 2 e 3 para esta tarefa.

4. Traduza o texto. Caso aparecam palavras que vocé desconhece ou das quais tenha
se esquecido, consulte o dicionario. N&o tenha desanimo de fazer isso. Com apenas
alguns exercicios como este, sua velocidade de leitura vai aumentar
significativamente.

5. Perceba que neste texto, cujo tema € historia natural, vocé encontra muitas palavras
gue tém semelhanca com o inglés. E uma outra boa quantidade vém daquele
vocabulério basico de 2 mil palavras. Como vocé ja vem assimilando muitas
pequenas unidades (frases) desde o comeco do curso, sua mente ja estad mais afinada
com as estruturas basicas do Inglés. Entdo agora é s6 uma questdo de encarar
unidades maiores de leitura (periodos e paragrafos mais longos; paginas inteiras).
Refaca agora a leitura, acompanhando o 4udio.



